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Speciff the learning task for'A ffi6€rs learning problem.
Discuss the following.with r*Elffi tij the above, ""

i) Choosing the training effirmce. ;
ii) Choosing the target"fun#i6n and .*.-:= 

'

iii) Choosing a fu nctip$;rffiproximation algorithrq.,i"til:'*
Comment on the issufuui$ machine learning. **:^:'

(03 Marks)

(09 Marks)
(04 Marks)c.

2a.

Construct decis ion t6e$#o
Ill*, I

t-

L

Write candi
for the trai

b. Discuss about an unbi

r the followurg*f;3tapslng ID3 algorit nr.l'

Dav A1 q-A?" A3 Classifibation
1 True &*ffot Hieh "'1i:1 NO

2 Ts& Hot High,*l ',,,* No
a
J :Ftib€' Hot Hish Yes
4?i fr1se Cool Nordbl Yes

u5' "Talse
Cool ,Nrdrrnal Yes

..;6 1o True Cool" rrl*"Hish No
7 True Hot * Hish No
8 True *"Hot Normal Yes
9 False" 16o1 Normal Yes
10 Fal'St Cool Hish No

; (16 Marks)

select the attributps fut building a decision tree using ID3 algorithm. (08 Marks)

Discuss tne issupdo avoiding over fitting the data, handling continuous data and missing

values in deci6ibs trees. (08 Marks)
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Explain the concept oTldbcision tree learning. Discuss the necessary measure required to4a.

b.
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5a.
b.

6a,
b.

c.

7a.
b.
c.

8a.
b.
c-
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Module-3 
-.l1ir;..

Define Perceptron. Explain the concept of single percep.t"r$nffih neat diagram' (06 Marks)

Explain the back propagation algorithm. Wtry is it n3t'i1kg*iYo be trapped in local minima?
'{' = (l0Marks)

*lt 
"^ "

OR ..,'- ''-'#

List the appropriate problems for neural netwffid;ning. (01ftart<s),

What is Bayes theorem and

Derive an equation for
Consider a football ga

wins 95% of the time
team 0, only 30% of

.tti!

two rival teams: Team 0 and

1 wins the rema

, Domestic). *,-.: =,,.. ",

I

=

)Color Type FffiM Stolen
J' Red Sports mestic Yes

Red Sport$w-Dbmestic \J6,'.,.

Red Snort* 'Domestic Y,@$., '

Ye11ow "SpCffts
ffiotts

Domestic No

Yellow Imported Yes

YelKik SUV Impor No
Y$tftsvfl SUV Imptiffitl Yes

Blffiw SUV Dodestic No

ffKed SUV hported No
r Red Spod$:4.'"'hrPorted Yes

Wlodule-S
n.

learning? How reinforcement

OR

* * *'* *
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(08 Marks)

(08 Marks)

learning problem differs
(05 Marks)
(03 Marks)

(08 Marks)
(08 Marks)

ffi;;; ffi iirfi*n rru*ing rule anduQeita rule that solves the learning problerrr of

perceptron '- J (08 Nlarks)

Write a remark on representation of-{ee6&tward networks. (04 Marks)

, miliru* 1 are obiained,whi{e playing at home. If team 1 is to host the

next match Uetwiipr}flr" two teams, which.{Abg will most likely emerge as the winner?

'1;lt , -::'" (08 Marks),u,. tr

,,i';,, ';r

,:,,,;.'.t.l:iirrlri _ .SOR
,; , ,(

OescriqJ Qrute - Force MAP leaq*'&algorithm. *-,.-l** (04 Marks)

DisffiJ.}td Naive Bayees classffiei., "'1tF' (04 Marks)
' ' ' q{s F 

bout stolep Qri8i.t. Using Naive bayes classifierThe following table gives data set a
classify the new data (Red"SUV,Domestic).
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b.

c.

l0 a.

b.

What is instance,6"+npa learning? g*p_llh K-Nearest neighbour algorithm.

Explain samplguerror, true error, confidence intervals and Q-learning function.
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